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HEll—-8
faga — rfora
g — 2.3%@% quiie — 80
qEI ued (1-6)
Y1, W& —13 &1 o9 wfiem 8 — 1
Multiplicative inverse of number -13 is
@) 0 @) 1 @)= (@1 ()
-2 T 9 @ ue g &nft - 1
Cube number of number 9 is
(a1) 27 (@) 81 (W) 343 (@) 729 ()
Y¥H—3 WEIROT &Tel 1 X &1 H6l G5 8 — 1
@) HAUAXEIXHAY @) HAUA*100
100 HAHOxEY
M Tfﬂﬂxm:ﬂl{]ﬂ
{ﬁ} HAG =100 {E} al |: J

Correct formula to find the simple interest 15
A. Principal * Rate = Time
100
B. 100 = Principal
Time x Rate
C. Principal * Rate
Time = 100
D. Principal <Time = 100
Rate

Ue—4 & fHeRmm SahY &1 ou ®UA 240 B, O 1 AU B B ol B0~
Price of 5 kg sugar 1s rupees 240 then Price of 1 kg sugar 1s”
(31) a8 (@) 20 (") 100 (8) 240 ()



yv—s fA=fafag § 9 @9 fguda aas 8 °? 1

Which of the following polynomial is bionomial?

(31) 4x’ (@) 5-3xy (H) 2x+3y-5  (T) 5x+2x ( )
YTI—6 AT & A AT DIV & HIGT FHT GRT Bem & — 1

Sum of all interior angles of a quadrilateral 1s7?

(31) 90’ (@) 180" (@) 360’ (®) 540" (]

Jfdegacas 9o (7—11)

Very short answer type questions (7 - 11)
YeH—7 98 WA BT HE Fa By fTEd W= 200 @1 00 HYE qOl 69 We 8 WY 2

Find the smallest number by which the number 200 is multiplied to obtain a perfect cube?

Y9-8 2Wd -4q U4 Tpq HT U BT — 2
Product of the polynomial - 4q and 7TPq is
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ye—o el AHag s & U@ AfREHIv F1 919 45° 8, A1 qorsil B GeEdT 97 B6f 7 2

How many sides does a regular polygon have if each of its exterior angle is 457

Uei—10 &1 ¥ @G ABCD &1 gREM sra Hifsiw — 2
Find the perimeter of given figure ABCD

D C




UeA—11 & T IH A UH AT W (R) WIS B B WS s HIf | 2
Find the probability of getting a red apple (R) in the given figure,

O
©OY) .
@ @ Red (R) — @Ted
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Short answer type questions (12 - 15)
PART -A (12-15)
wed—12 fmfafiad domT @1 uge ¥ /ocg § ¥ Sugad W v aifdha dfrr - 4x1=4

Read the following statements and mark v" on True / False appropriately

(i) T 1354, 2 9 oy =81 2 | e / 3Ty
Number 1354 is not divisible by 2, [True / False]
(i) =T 152875, 9 W favrey 2 | e / ey
Number 152875 is divisible by 9. [True / False]

(i) afe &1 dew 2 aur 3 9 fwifea 8, & a8 e 6 9 of e &nft 2
e/ 3y
If Any number is divisible by 2 and 3 then the number is divisible by 6. [True / False]
(iv) T 6+X, 9 &1 TorA B, i€ X & " 2 || U / 36y
Number 6 + x is a multiple of 9, if value of x is 2, [True / False]

ye—13 fAU 70 ydle a @ forg @) gvg fRA M B U@ I @ WUd HU ¥ gv9 e
ured gy W ygE w A A ) Rea e w OHw @ gey/ued gen A oW
Sugad fawe ferfday | 4
Two views are given next to each solid figure shown below. Identify the “view from above™ and
“side view™ corresponding to each solid figure and write the same in the blank space provided
below.,
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U¥i—14 400 faTdl W v 0 wed wd & SE grarma st &1 ures T8 s aret B
g fam § goifar man 81 g g @1 wgaw @ Ay v yeet & gar difg -
2+2=4

A road survey was conducted on 400 people who did not follow traffic rules that are shown in the
pie chart, Read the pie chart and answer of the following question



(1) a9 Afer® R eme arel aEal &1 ga grel @fdaal &1 ufdea sma i |

What percentage of people drive vehicle that are overloaded.

(2) BHele A& oW gt @fdodl @ wen, oy e 9 afe o d awa g gl
arfdaal 9 feah afts 87
Find the difference of people who are without helmet by who are over speeding,
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Y15 U {HR g ABCD fan wan & | aftsmre aiR qort @ amur wr R e
@ gfet @forg | 4x =4

Given a parallelogram ABCD. Fill in the blanks on the basis of the defination and it's properties.
D C

A B
(i) AD= (BC/AB)

(i) ZDCB= (LBDA/ZLBAD)
(iiiy OC = (OB/OA)

(iv) mZDAB+ mZCDA = (180"/360")




NS U
gvs—9q (16—21)

Yei—16 UH QIHR &3 B d7%hd 2304 THIER 8| 39 TER &3 B 41 §1d B |

Area of square region i1s 2304 m".Find the side of square region.
R DI o B S s

e
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YeH—17 ©Idid & FEH] &1 9a@e sed gu e @ 3 sE Sy | 242=4
Find the value of the following using Laws of exponents,
i) (3"+4"+5")

---------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

mq-mqﬂqumaiwﬁia%quﬁﬁnwmmmﬁmmw
yafdfa #fom | 142=4

Find four rational numbers between 2/3 and 3/5 and represent them numbers on number line.
O T o oo I e e e e
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Yei—19 WA 9 10,000 ®UY HI 2 99 & fay 10 Uled @ IR W THYEg A B Td W
gy forar | afe g v= wye & wR forar e o 91 &ure H feawr 9w BT 4

Ram borrowed Rs 10,000 for 2 years at the rate of 10% compounded annually.If he could have
borrowed at Simple Interest rate then what will be difference in both interests,
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UTH-20 &1 W&l 61 N 95 €| Afe uEell Wer gudl W 9§ 15 v g ?fr&a‘m‘r
e w1 "E s DI |
Sum of two numbers 15 95, If first number i1s 15 more than the second number then find both thn‘:
numbers,
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PHREE R PR R PR R R PR AR PR I A RN PR A A FE EE RN AP AR PR R PR R N PRI P PR F R PR PR P A PR PR R PR R PR
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Yei—21 WIel W &1 B U <% Jrargrd i #1 ure wRa gU 25 e # 14 0 wem
2| g g® @1 ad) ard @ °@ 5 °Hve H g B g gl wa o - 4
A truck loaded with goods Travels 14 km in 25 minutes following the traffic rules. If the speed of
the truck remains the same how much distance will it cover in 5 hours 7

Fi¥ ADS, —.oveevenens W, B e IR SRS SRS SRS SR LRSS TR RSP E T SERSSRERS

AREREEREAA F I T EA AR A SN EE A R EE NN PR B AR E R PR SR E P B EE G EE A BN RS RS E R FAS RS PR E Y A FE Y ER AR R PR F AR BRI B R F R F AR
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Fraarerad e (22—25)
Essay Type Questions (22-25)

Y22 9849 ABCDEF &1 faf= swwrf d dfer v & b f6 amspfay # qwifan mar 2 &

48 BT &FPe S DIFAY | 6
The Polygon ABCDEF is divided into different parts as shown in the figure then find the arca of

Polygon.
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Or



Freferfe o1 &er HIfm- 3436
Solve the following -
(A) U@ FHadd &1 aa%d 240cm’ 8 3R fAwul 4 @ v @ oward s0 90 8 gud
fapol simer @R | g7 W Rl s # den e aifdw @ s @iy ?
The Area of a Rombus is 240 em’and the length of one of its diagonal is 30 em.Find the length of

the other diagonal, which diagonal is greater and How much.

(B) U® U da=1 &1 Sarg sma #iforg, s smaas 1.54 m' o foras ammR &1 &g

140 cm & |
Find the height of the cylinder whose volume is 1.54 m’ and diameter of the base is 140 cm,

TITEIT ANS, = () 1ooveieeeoeeieiesesseessesssesseeieseseeses st sssess e see e85t 5o e

BN ADS. = (B) ormnsrvemensimssmsmmmsssresmsssssclismeesssmssmsesirin

w23 fyefafim avel @ g sifre (@B e @) 343=6

Factorise the following expression.(Any two).
(i) 4p"-9q" (i) X 48X+ Xy +8y
(iii) X*+6X+8 (iv) a’b'

TIEETN IS, — (B)1 tcoeere ot est e bt e85 505050180 88 RS 00
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Ye9—24 TGHA ABCD 1 Ia1 HIAY T8 AB=5cm, BC=4.5cm, AD=6em, P10 A= 90" TAT FHU]
B=105" 6
Construct a quadrilateral ABCD where AB =5cm, BC =45 cm, AD=6 cm angle A = 90"and
Angle B = 105°

ST
OR

Uh FHEgHA WXYZ &1 3991 difog fFe el wy @21 xz & s=Edl s

5.2cm TT 6.4cm & |
Construct a Rhombus WXYZ whose length of the diagonals WY and XZ are 5.2 cm and 6.4 cm

respectively.
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aer < el 3 uvE @ Sar Sifen — 6

Draw the graph for the following tables of values, with suitable index.

9l g9 IR 9ifd@ &
AT 84 (B9Y ) 1000 2000 3000 4000 5000
WERY &ha (H9d #H) 80 160 240 320 400

Interest on deposit for a year,
Deposit (IN R) 1000 | 2000 3000 4000 S000
Simple Interest ( IN R) | 80 160 240 320 400

(i) =T 3o o fag | o g ?

Does the graph passes through the origin.
(i) ATelg & TN U WYY 2500 HT dlfte T S HIfu |
On the basis of graph.Find the interest on Rs 2500 for year.
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